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Programmer:H.Endo
Create Date:2021/03/09

H O oH HF HF H O H H H

#
#EBEH U7X
#

class ConstSet:
c=299792458/1000*3600 #3333k (km/h)
U=7.42426e-31 #FEHIRILF—FEK(km/kg)

M=1.9891e30 #XGEE (ko)
m=5.97219e24 #HIRE 2 (kg)
mp=1000 #FHEMEE (k)
Re=149598262 #XG— IR E R RE
r=6378.137 HHOIRHAE

#

# T

#

def sayU(self):

print("Y¢E& ¢ = {0} km/h , FEHIRILF—EH U = {1} km/kg".format(self.c,self.U))

#
# ZH
#
def sayM(self):
print(")
print("XGE=E = {0} kg".format(self.M))
print("thIKEE = {0} kg".format(self.m))
print"FEHEMEE = {0} kg".format(self.mp))
print("XE-#EKERERH Re = {0} km".format(self.Re))
print("HEBR3E = {0} km".format(self.r))
#
#RE IR
#
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class Velocity:

cs=ConstSet()

#
# HERNERIRE
#
def VE(self):
SER = self.S(cs.M,cs.m,cs.Re,1) # Static Energy(je=kg(km/h)*2)
ve = self.v(SER,cs.m) # Velocity(km/h)
return ve
#
# KGREHERE
#
def V2E(self):
SERZ2 = self.S(cs.M,cs.mp,cs.Re,2) # Static Energy(je)
ve2 = self.v(SER2,cs.mp) # Velocity(km/h)
return ve2
#
# WIRKREBNIRILF—ICNT 2EE
#
def V2e(self):
Ser2 = self.S(cs.m,cs.mp,cs.r,2) # Static Energy(je)
ver = self.v(Ser2,cs.mp) # Velocity(km/h)
return ver
#
# KGRIRREEE
#
def v3(self):
VEO = self.V2E() - self.VE() # KERERERE - #IRANEERE (km/h)
AEO = self.A(cs.mp,vEOQ) # KGRIBEEE - HIRANERREDEN I XILF—(je)
Ser2 = self.S(cs.m,cs.mp,cs.r,2) # HIRKEFHRNIRILF—ICHSHREBNIRILF—
(je)
return self.v(Ser2+AEO,cs.mp) # KRB HRE (km/h)
#
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# RESEBMIXRILF—
#
def A(self, m,v):

return m*v*2

#
# BEITRIF—FRE
#
def v(self,A,m):
return (A/m)**0.5

# BRI RILT—

#

def S(self,M,m,r,n):
Em =m * cs.c*?2
ac=cs.U*(M+m)
Sr=n*Em*ac/r
return Sr

def sayV(self):

)
print("#IK A ERIRE

print

"

(

print("A5E 2B R E

print("MIERANEREESRE = %.5e km/s"%((self.V2E() - self.VE())/3600))
(
(
("%

print ("R HRE
print("")

print("sE 3 FEIEE

#
# Main Routine
#

cs = ConstSet()
vl = Velocity()

cs.sayU()
cs.sayM()
vl.sayV()

# A=mv"2

# v=sqgrt(A/m)

#Em =mp x c"2
#ac=Ux (m+ mp)
#Sr=Emxac/r

= %.5e km/s"%(self.VE()/3600))
= %.5e km/s"%(self.V2E()/3600))

= %.5e km/s"%(self.V2e()/3600))

= %.5e km/s"%(self.v3()/3600))

HEBERYT 7 A
HRET T
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